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1. (30 %) ¥ 18 Markov process #4 stochastic matrix 4 4o F » E 4745 &9 8 A & X=[20 70 10]"

0.6 0.1 02
A=102 09 02

02 0 0.6
(@) FH K A4 cigenvalue LA R H ¥ JE &) eigenvector o (18 %)
(b) 3%"5 ;é—A3 ‘X e (7 /7]\)

© A" -X=[abc]" > (abo)REHELGER » R B(Z1Z07T5)  (Z1,207)=7 (5 5)
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(a) 3# M A4 77 7k (Buler's method) » #£ 25 A 145 > H 3E(step) h %% 0.1 x,=1,x,, =x +h
Vi =Yt h*y'(x,y) > FR (Vs ys,9,) =7 9 %)
O) ZATRAEABRIAFTRAESE  FREBIBETF - (6 %)
(©) HFHEy2) -y, =7 (10 )
3.(15 %) RASWMAT KE > B d »(0), & Laplace ##4% : Y(s)z__l__[e—x_e—-ﬂ ,

s(s* +35+2)
4o p(0)=0,y'(0)=0 > F R © [1(0.5),»(1.5),(2.5]=2
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4.G0 ) HATRAL YRy y=r() ¥ LRCAEH () RS

(@) Zr(t)=E,-cos(wt) » L X 24542 y,(1)=a-cos(wt)+ f-sin(wr) >

1
Fs=@L-—2)  HRE,0.5RREF @F)=7 (10 %)
(b) #Zr0)=0,0)=5'0)=1 > (L,R,C)=(0.1,11,0.01) » FME y() - (10 49

(©) %r(z‘)=110-sir1(1207zl+%),y(0):O=y'(0) » (L,R,C)=(0.1,11,0.01) -

o
542 _g—)z? (10 )
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